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102/6/7 &R Zip 1 %
102/6/7 A INSZHE 37 X
102/6/13 EHEB M AR 750 fr
102/6/13 B EH BARANRA 1 %
102/6/13 B E BARARA 1 %
102/6/13 FBEEE Y ER 1 %
102/6/14 AN REHCECEBINEESE | &8 29 &
102/6/14 AN AERCELSEINEESZE |NG&E#E 100 €
102/6/14 =DO0ATL BK 50 fr
102/6/14 =R EeFE 500 @
102/6/14 A EENE 2 &
102/6/14 =R &= 2 &




RZEBAEEDPL
102 &£ 1-6 AiEYRB4A

= E v e HE
102/6/14 &R ={EH 1#4
102/6/14 A= RS 1%
102/6/17 E7EB M AK 850 fr
102/6/17 BHBEE N JJHIZE 2 8
102/6/17 Ly =FAL EVES 2 78
102/6/17 EHEB M RREm 1 %
102/6/17 Ly =FAL 72 3 R
102/6/17 EREB N B 1 %=
102/6/17 EHEB M E25R 2 8
102/6/17 Yy =FAL 2+ 18
102/6/21 RIBEST BRI 18 7§
102/6/21 RIBETF H 6% 6 78
102/6/21 RIBEST AKikn 7 %
102/6/21 RIBEST RIR 8 8
102/6/21 RIBEST 2k i 10 7§
102/6/21 RIBEST = 2 78
102/6/21 RIGEF 216 2 78
102/6/21 RIFEF e 58 4 78
102/6/21 RIBETF BHEZ 14 78
102/6/21 RIFEF =Kl 1|13 2 8
102/6/27 RImES oK 21 Fr
102/6/27 AR E25R 10 &
102/6/28 =h&E e 2 &
102/6/30 =0OAt HK 80 fr
102/6/30 EER S KR 14 &




	102年1-6月捐款明細
	102年1-6月捐物明細

